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2 You are required to use a soft pencil (Type B or HB | mended) and a soft clean eraser.

3 There are forty (40) questions in this paper. Answer all questions. For each question there are

four possible answers, A, B, C and D. Choose the on consider correct and record your

choice in soft pencil on the separate answer sheet. o
Read very carefully the instructions on the Answer Sheet.
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answer.
Non programmable calculators may be used.
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3 The job opportunity avallable for a person who has studied accounts is « .« «
A cashler.
B secretary.
' office orderly.
D [personnel manager.
soe e accounting concept that makes capital be treated as a liability to the business.

ss Entity
Concern

C bjecti
D

3  If the current assets are arranged in a Balance Sheet in increasing Or_der of Liq‘Liidity, which of
the following rrect? Theee. v

A cash will come first.
B sh will come last.
C highest value of aéney will come last.

. D highest value oney will come first.

4 The transaction whose double en “comp-leted within the cash book is called « « «
- A cash transaction. )

B contra entry transac
C bank transaction.
D double entry transaction. ‘

5 The recording of two aspects of a tr; n involves s« «
A double entry. . .
B accounting equation. .
C debit entry. ' ‘

D credit entry. ’ :
6 Give an example of a Nominal Account from ollowi

A Kanyama Kaluba Account.

B  Furniture and Fittings Account.

C Wages Account.
D ZESCO Account.

7  Show the effect of the transaction in which the owner puts an extfd K4 000 cash into the
business.

A Debit cash and Credit owner

B  Debit business and Credit cash
C Debit Bank and Credit Capital
D Debit Cash and Credit Capital

Principles of Accounts/7110/1/22014
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eck completion of double entry and arithmetical accuracy in the books of accounts a « s+« is

: < Book
' ay Book -
C Cash BO%
D PettyCa
In which of the follow ash Discount be first recorded7
A Cash Book
B General Journa

11

12

13

14

'€ Ledger

D Sales Journal

««« shows the state of affai usiness ‘the end of a financial year.

A The Trading Account

B The Profit and Loss Accoun
C The Cash Book

D The Balance Sheet

A trader had opening capital of K85 000 an capltal of K107 000. She had drawings of
K13 000 during the year. What was her fit? -

A K9 000

. ¥

B K13 000
C K22 000
D K35000
Zuze Enterprise bought a motor van at K20 000. It was estimated to be used in business for 5
years after which it would have a scrap value of K2 000. as the depreciation value of
each year?
A K3335.33 ¢
B K3 666.67 :
C K3 600.00
D K2 000.00

Expenses which a firm has incurred but not yet paid for are called « »
A prepaid expenses.

B administrative expenses.

C accrued expenses.

D distribution expenses.

Principles of Accounts/7110/ 122014 [Turn over
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15

17

18

19

20

Chasha created a provislon for Bad and Doubtful Debts of K400 in 2012. In 2013 she increased
the provislon to 5% of total debtors. On 31% December 2013, debtors were K10 000. How
much did Chasha debit to her Profit and Loss Account for the year 2013?

A K100
K400
K500
K900 ’
of Machinery costing K10 000 was entered in the Sales Account instead of Machinery
Al Account. Such an error is an example of e e« ™ '
te reversal of entries.

D error ission.

The Suspgnse nt was opened for K429.62. Later it was discovered that cash sales of the
amount cash account but no entry was made in the sales account. What would
be the double ent clear off the suspense account?

Account D Account Credited
A Cash : %spense K429.62
B Suspense K429.62 Sales K429.62
C Suspense K429 ash K429.62
D Sales K429.62 Suspense K429.62
The bank charges on the Bank Stateme t(‘ not appear in the cash book causing a difference i
the balances. What should be*the correct the balances.

A Debit the statement of acc

B Credit the statement of account
C Credit the cash book
D Debit the cash book _

Entries in control accounts are made from
A Bank Statement.

B  Books of Original entry.

C Ledger Accounts.

D Sales invoices. g ‘

Which of the following items appear under Current Asséts of a -profit making organisation?
A Transport cost owing

B Debtors for subscription

C  Subscription received in advance

D Bar expenses owing

Principles of Accounts/7110/1/72014
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23

24

25

26

e purchase of a grinding machine is ««
Revenue receipt.

apital expenditure.

ital receipt.

Revehue expenditure.

plete Records are best described as records which e e
ed by fire.

t on single entry.

double entry system.

partner’s salary of K210 000 would be posted to theeee
debit side of foss account.
credit side oficap
debit side of ur
D credit side of his curr

A
B
C
D show
A
A
B
C

A manufacturing busine

Raw material K150 000
Wages K144 000
Qverheads K130 000

What was the cost of production?

A K150 000 ‘

B K292 000

C K424 000 /

D K194 000

What is a Limited Company’s Authorised Ca ‘

A business with two departments had:
Sales: Department A K2 000 000

Department B K1 000 000
Expenses: K600 000

A Capital the company is allowed to raise
B Issued capital plus loan capital
C Paid up share capital
D Shares issued
2
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How much expenses would you charge to Department A if expens @ ged on the basis

of sales?

A K600 000
B K400 000
C K1 000 000
D K200 000

Principles of Accounts/7110/1/22014

[Turn over



Page 6 of 8

27 Mala and Company had the following data for the year 2012:
Gross Profit 10 000
Net Profit 5 000
Capital 40 000-
rawings 15 000 ;
oan 45 000

te the company’s return on investment
%

10%
CA
D 2%

-

s to pay for Goodwill when admitfea as a partner. Why does payment for
? TOese ‘

29 Stock Turnover is calculat :
A Sales
Average Stock .
g Cost of goods sold ‘

Average stock

Sales

C :
Opening stock

D Sales + Cost of goods sold

30 Which item appears in the Appropriation Acc f a Limited Company?
A Debenture interest : ' )
B Director’s salaries
C Investment income received

D Ordinary share dividends ‘
31 Which one of the following is paid whether profit is ma@ie or net?
A Debenture interest ‘
B  Shares
C Dividends
D Reserves

Principles of Accounts/7110/1/22014
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34

35

36

37

38
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Accountant mistakenly treats a Capital Expenditure item as revenue. What will be the effect
his error? :
ross Profit will be understated
t Profit will be overstated
assets will be overstated
assets will be understated

To
To

0 for withdrawing money from a current accounts is the « « »
5 :
B
C
‘D
Which of the follow correct for a non profit making organisation?
A Accumulate ssets + Liabilities
B Assets — Lia cgumulated Fund
C Assets nd + Liabilities

The accounting equatio

A cost concept. 2
B accrual concept

C  dual aspect concept

D consistency concept @ ‘
What is the effect of making contra w Sales and Purchases Ledger Control Accounts?

Debtors Creditors
Increase Increase

Decrease Decrease
Increase Decrease '
Decrease Increase '
A Bad Debt written off in the previous year has been red. This should be s«

A treated as a profit for the year.

B  written off from the profit and loss account. \ ¢
C re-entered in the debtor’s account.

D ignored as it was already written off.

oOnN0w >

The number of times the businessbreplenishes its Stock iS o o o
A net profit margin.

B  gross profit margin.

C acid test.

D Rate of stock turnover

Principles of Accounts/7110/1/22014 [Turn over
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39 In the General Ledger, the total of the discount received is posted to the « .

credit of the discount received account.

edit of the discount allowed account.

f the discount received account.
can be defined as « .« »
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